Multiplicera decimaler med 10,100,1000

namn: Datum: Poing:
6,113 x 10 = 1,655 % 100 =
10, 136 x 1000 = 1,451 x 10 =
3,999 x 10 = 7,397 x 100 =
9,56 x 10 = 4,082 x 100 =
9,101 x 100 = 5,476 x 10 =
10, 818 x 1000 = 3,53 x 10 =
4,836 x 100 = 1,709 x 100 =
7,008 x 10 = 5,86 x 10 =
6,611 x 1000 = 4,610 =

8, 888 x 1000 = 10, 581 x 100 =
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namn: Datum: Poing;
6,113 x 10 = 61.13 1,655 % 100 = 165.5
10, 136 x 1000 = 10136 1,451 x 10 = 14.51
3,999 x 10 = 39.99 7,397 x 100 = 739.7
9,56 x 10 = 95.6 4,082 x 100 = 408.2
9,101 x 100 = 910.1 5,476 x 10 = 54.76
10, 818 x 1000 = 10818 3,53 x 10 =353
4,836 x 100 = 483.6 1,709 x 100 = 170.9
7,008 x 10 = 70.08 5,86 x 10 = 58.6
6,611 x 1000 = 6611 4,6 x 10 = 46
8, 888 x 1000 = 8888 10, 581 x 100 = 1058.1
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